import java.util.*;
class HIFRITE {
public static void main(String[] args) {
/] G R
Scanner in = new Scanner(System.in);

String] arrTK={"public","static","void","class","break","true","false","continue"};
// ¥R
String[] arrTK2={" 22 3L [y A5 " oI [a] g e AT | R Bk
/13
int[] arr = new int[arrTK.length];
ek &
[*for(int i =
0 ;i<arr.length;i++){ //TAR
arrfi]=-1;
Y/
//int tindex=0;
/]
int count = 0;
for(inti=1;i<=8;i++ ){
int index = getT(arrTK2,arr,tindex);
System.out.printin("i5F 5 H  "+arrTK2[index]+ " [ H#L3H");
String answer= in.next();
if(answer.equals(arrTK[index])){
count++;

}
//tindex++;

System.out.print("#& [ £ 2415 73 /& "+(count*20));

}
public static int getT(String[] arrTK2,int[] arr /*int tindex*/){

Random r = new Random();
intindex=-1;
while(true){
index= r.nextInt(arrTK2.length);
boolean flag =true;
for(inti =0 ; i<arr.length ; i++){
if(arr[i]==index){



flag =false;

}
}
if(flag){
break;
}

}

arr[tindex]=index;
return index;



